3-Digit Minus 2-Digit Subtraction (A)

Name:

Date:

729 — 37 =
847 — 53 =
220 — 16 =
606 — 54 =
551 — 33 =
283 — 65 =
976 — 33 =
437 — 44 =
829 — 29 =
413 — 70 =
565 — 56 =
502 — 30 =
265 — 84 =
330 — 61 =
33283 =
817 — 56 =
925 —72 =
486 — 77 =
665 — 72 =
184 — 38 =
631 — 94 =
535 —26 =
890 — 91 =
533 — 99 =
950 — 77 =

Calculate each difference.

960 — 67 =

697 — 31 =

977 — 80 =

631 —42 =

804 — 96 =

951 — 11 =

663 — 59 =

788 — 82 =

654 — 28 =

783 — 69 =

614 — 34 =

820 —37 =

930 — 11 =

615 —81 =

608 — 31 =

674 — 78 =

310—-57 =

254 — 14 =

941 — 48 =

571 — 94 =

428 — 86 =

138 — 26 =

930 — 47 =

822 —-78 =

942 — 50 =

Score:
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